
Surds 
 

1) 𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦: 

𝒂 √121      𝒃 √
1

9
     𝒄 √

16

49
    𝒅 √0.01     𝒆 √8

3
 

 
2) 𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦 𝑎𝑛𝑑 𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙𝑖𝑠𝑒 𝑡ℎ𝑒 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟 𝑤ℎ𝑒𝑟𝑒 𝑎𝑝𝑝𝑟𝑜𝑝𝑟𝑖𝑎𝑡𝑒: 

𝒂 √3 × √5     𝒃 √3 × √7      𝒄 
√𝑝

√𝑞
      𝒅 

1

2√𝑞
      𝒆 

3√𝑎

√2𝑏
 

 
3) 𝐸𝑥𝑝𝑟𝑒𝑠𝑠 𝑡ℎ𝑒 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛𝑠 𝑤ℎ𝑒𝑟𝑒 𝑎𝑙𝑙 𝑡𝑒𝑟𝑚𝑠 𝑎𝑟𝑒 𝑢𝑛𝑑𝑒𝑟 𝑎 𝑟𝑜𝑜𝑡, 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑖𝑚𝑝𝑙𝑒𝑠𝑡 𝑝𝑜𝑠𝑠𝑖𝑏𝑙𝑒 𝑠𝑢𝑟𝑑𝑠. 
𝐸𝑥𝑝𝑟𝑒𝑠𝑠 𝑡ℎ𝑒 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛𝑠 𝑤ℎ𝑒𝑟𝑒 𝑡ℎ𝑒 𝑡𝑒𝑟𝑚𝑠 𝑎𝑟𝑒 𝑚𝑖𝑥𝑒𝑑 𝑤𝑖𝑡ℎ 𝑠𝑢𝑟𝑑𝑠 𝑎𝑛𝑑 𝑖𝑛𝑡𝑒𝑔𝑒𝑟𝑠, 𝑎𝑠 𝑠𝑞𝑢𝑎𝑟𝑒 𝑟𝑜𝑜𝑡𝑠 𝑜𝑓 𝑖𝑛𝑡𝑒𝑔𝑒𝑟𝑠. 

𝒂 √8     𝒃 √12     𝒄 3√2     𝒅 √50     𝒆 4√5     𝒇 3√8     𝒈 √1210     𝒉 6√6      𝒊 √72     𝒋 14√2 

 
4) 𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦 

𝒂 √18 + √32    𝒃 √48 − √27    𝒄 2√8 + √72    𝒅 √360 − 2√40    𝒆 2√5 − √45 + 3√20    𝒇 √24 + √150 − 2√96 

 

5) 𝐸𝑥𝑝𝑟𝑒𝑠𝑠 𝑖𝑛 𝑡ℎ𝑒 𝑓𝑜𝑟𝑚 𝑎 + 𝑏√𝑐, 𝑤ℎ𝑒𝑟𝑒 𝑎, 𝑏, 𝑎𝑛𝑑 𝑐 𝑎𝑟𝑒 𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 

𝒂     3(2 + √3)      𝒃 4 − √3 − 2(1 − √3)     𝒄 (√5 + 2)
𝟐

      𝒅 (1 + √2)(3 − 2√2)      𝒆 √
1

2
+ √

1

4
+ √

1

8
 

𝒇 (3√3 + 1)(2 − 5√3)     𝒈 (5√5 − 4)
2

      𝒉 (3 − √8)(4 + √2) 

 

6) 𝐸𝑥𝑝𝑟𝑒𝑠𝑠 𝑒𝑎𝑐ℎ 𝑜𝑓 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑎𝑠 𝑠𝑖𝑚𝑝𝑙𝑦 𝑎𝑠 𝑝𝑜𝑠𝑠𝑖𝑏𝑙𝑒, 𝑤𝑖𝑡ℎ 𝑎 𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟. 

𝒂 
1

√5
    𝒃 

2

√3
     𝒄 

14

√7
      𝒅 

3√2

√3
      𝒆 

1

2√2
     𝒇 

−7

2√7
      𝒈 

9

4√6
      𝒉 

1

√2 + 1
      𝒊 

1

3 − √5
     𝒋 

√3 + √2

√3 − √2
 

 

𝒌 
√5 + 1

√5 − √3
      𝒍

2√2 − √3

√3 + √2
      𝒎

√6 + √3

√6 − √3
      𝒏 

√10 + 2√5

√10 + √5
 


